1058FE FEEBRR( BE(—) )

- H#36=

= 2
ZERAED - BRIEZ - BI20HE
=g — — = m h =g — — = m h
5B 1/9 1/10 1/11 1/12 1/13 $£8 1/16 1/17 1/18 1/19 1/20
0800 0800
z E
0850 0850
0900 0900
2 = 2 E
0950 0950
1000 1000
3 E 3 E
1050 1050
1100 1100
4 E 4 =
1150 1150
1240 1240
5 ES REZ | BREZ | KEZ | RKEZ 5 £ A
1330 1330
1340 1340
6 = REZ | REZ | KEZ | KEZ 6 = #7518
1430 1430
1440 1440
7 = REZ | BREZ | KEZ | RKEZ 7 = #7518
1530 1530
1540 1540
8 = REZ | BREZ | KEZ | KEZ 8 = g7518
1630 1630
=g — — = m h =g — — = m h
$£=B 1/23 1/24 1/25 FEE 2/6 2/7 2/8 2/9 2/10
0800 0800
1 z 1 E
0850 0850
0900 0900
2 E 2 z
0950 0950
1000 1000
3 E 3 z
1050 1050
1100 1100
4 E 4 E
1150 1150
1240 1240
5 £ g5t 5 £ gI7ciE | BIZE | BIZE
1330 1330
1340 1340
6 = g7518 6 = gI7ciE | BIZE | BIZE
1430 1430
1540 1540
7 = g7518 7 = gi7ciE | BIZE | BI%E
1630 1630
1540 1540
8 = BI754 8 = gI7cE | BIZE | BIZE
1630 1630
M ENEHRAMEARNEZRMELR

it 1.BRE-—RERZILRH4ER -

2.106/01/26-106/02/05%& F kA LR



B (H) ) H36E

N

ERT

~

X iy ke
1058 F 8 FEEBRE(
m o ==
SRR LA - EXE - HEE -
= — — = m il =B — — = m il
£—8 1/9 1/10 1/11 1/12 1/13 FTE 1/16 1/17 1/18 1/19 1/20
0800 0800
z 1 E
0850 0850
0900 0900
2 £ 2 =
0950 0950
1000 1000
3 £ 3 ES
1050 1050
1100 1100
4 E 4 =
1150 1150
1240 1240
5 ES BN | R IR 5 ES BEE | BEE
1330 1330
1340 1340
6 ES BB | X IR 6 ES BEE | BEE
1430 1430
1440 1440
7 ES BB | X B 7 ES BEE | BEE
1530 1530
1540 1540
8 ES BB | X B 8 ES BEE | BEE
1630 1630
= — — = m il =g — — = m il
=B 1/23 1/24 1/25 FIB 2/6 2/7 2/8 2/9 2/10
0800 0800
1 E 1 E
0850 0850
0900 0900
2 £ 2 ES
0950 0950
1000 1000
3 £ 3 ES
1050 1050
1100 1100
4 E 4 E
1150 1150
1240 1240
5 ES BEE 5 ES ART | ERT | ERT
1330 1330
1340 1340
6 ES BB 6 ES ART | ERT | ERT
1430 1430
1540 1540
7 ES BEE 7 ES ART | ERT | ERT
1630 1630
1540 1540
8 ES BEE 8 ES ART | ERT | ERT
1630 1630
iz 2 HEHFAMBABSEEER

it 1.BRE-—RERZILRH4ER -
2.106/01/26-106/02/05%& F kA LR



1058 FE FEEBRR( (EB(D) )  H36E
REABED : IR - BRELT - BEF® - TEF

EE: — — = ] i EE: — — = ] i
g8 1/9 1/10 1/11 1/12 1/13 B 1/16 1/17 1/18 1/19 1/20
0800 0800
= 1 =
0850 0850
0900 0900
= 2 =
0950 0950
1000 1000
= 3 =
1050 1050
1100 1100
= 4 =
1150 1150
1240 &= & 1240 t&_ | &8 | &8
= 2t 7% St 5 = BZ | RMES | BtH
1330 1330
1340 T T 1340 e | el | ez
= Bt 7% St 6 = BZ | RMEG | BttH
1430 1430
1440 T T 1440 e | 2l | ez
= 2t 7% St 7 = BZ5 | BMEG | BttH
1530 1530
1540 T Bz 1540 e | el | ez
= Bt 7% St 7% 8 = BZ5 | BMEH | BttH
1630 1630
EE: — — = ] i EE: — — = ] o
B8 1/23 1/24 1/25 Ebcl 2/6 2/7 2/8 2/9 2/10
0800 0800
= 1 =
0850 0850
0900 0900
= 2 =
0950 0950
1000 1000
= 3 =
1050 1050
1100 1100
= 4 =
1150 1150
1240 8- | 82 1240 8 | 82
= BREE | RES 5 = FHF | FHF
1330 1330
1340 &z | 8z 1340 e | 8z
= HREE | RES 6 = FHF | FHF
1430 1430
1540 &z | 8z 1540 e | 8z
= BREE | RES 7 = FHF | FHF
1630 1630
1540 &z | 8z 1540 e | 8z
= BREE | RES 8 = FHF | FHF
1630 1630

it 1.BREBE—XRRZIRI4ER REAZEEFAIERNESRHMELR
2.106/01/26-106/02/05 B F KA LR




1058 F E FEEBRR( BX(L) ) H36E

T | > [=] =+ R [=] o 32 1o
RGN . FHRIE - RADE - MelER - RS - EES
=E — — = n =E — — = n pal
£—8 1/9 1/10 1/11 1/12 8 1/16 1/17 1/18 1/19 1/20
0800 0800
z FREWE | =X | R | FEE z RihsE | =R
0850 0850
0900 0900
2 = FREVE | =X | R | FEE 2 = RUFE | R
0950 0950
1000 1000
3 = FHE | =B | BEZ | FTHEE 3 = RUE | FRER
1050 1050
1100 1100
4 £ FREWE | =X | ER | FEE 4 £ RS | R
1150 1150
1240 1240
5 ES 5 z
1330 1330
1340 1340
6 £ 6 z
1430 1430
1440 1440
7 £ 7 z
1530 1530
1540 1540
8 £ 8 £
1630 1630
=E — — = n fil =E — — = n fal
=B 1/23 1/24 1/25 FIB 2/6 2/7 2/8 2/9 2/10
0800 0800
1 = 2 | Raps 1 ES £l
0850 0850
0900 0900
2 E 2 | Raps 2 = £l
0950 0950
1000 1000
3 E gfsE | Rars 3 ES £l
1050 1050
1100 1100
4 E 2 | Rass z £l
1150 1150
1240 1240
5 ES z
1330 1330
1340 1340
6 ES £
1430 1430
1540 1540
7 £ 7 z
1630 1630
1540 1540
8 £ 8 £
1630 1630
nizhe = B2 HFAAEN B SBEEEHR

it 1.BRE-—RERZILRH4ER -
2.106/01/26-106/02/05%& F kA LR



1058 FE ERERR( EXNEEBERC) ) H72ZE

REREETD . EEHE - FiE

CWIUR - FhE - TEN - £F5F - hEE

ET — - = m A ETS — _ = I il
E—8 1/9 1/10 1/11 1/12 1/13 E£8 1/16 1/17 1/18 1/19 1/20
0800 0800
1 z ES)
0850 0850
0900 0900
2| = z=
0950 0950
1000 1000
3 EY ES)
1050 1050
1100 1100
41 = z=
1150 1150
1240 | E=x=# | B=3 | =HE | UK | BZEH# 1240 | =iy | B8 | £ | UK | TES
5| & z=
1330 1330
1340 | E=# | E=¥ | =08 | UR | B 1340 | =inEd | B8 | TEYE | 2R | TES
6 EY ES)
1430 1430
1440 | B=# | B=8 | =HE | ZUR | BXEH 1440 | =ina | B8 | T | ¥R | TESE
71 z=
1530 1530
1540 | E=# | E=¥ | =HE | UR | B 1540 | =inad | B8 | TEY | 2R | TES
8 ES ES)
1630 1630
S — _ = LY h E — _ = LY h
£=8 1/23 1/24 1/25 E-Juipc 2/6 2/7 2/8 2/9 2/10
0800 0800
1| ® =
0850 0850
0900 0900
2| = z=
0950 0950
1000 1000
3] ® z=
1050 1050
1100 1100
41 = z=
1150 1150
1240 | =RE | &£FF | TS 1240 | E=% | B8 | UK | & &=x | £F%F
5| & z=
1330 1330
1340 | =HE | &FF | =maE 1340 | E=# | BE==H | R | &% | &F%H
6| ZE z=
1430 1430
1540 | =RE | &£FF | TS 1540 | E=% | BE=x=f | UK | &% | E£F%F
71 & z=
1630 1630
1540 | =HE | &£FF | =ms 1540 | E=# | BE==H | R | &% | &F%H
8| = z=
1630 1630

3 1ENE—XBSTHIEE .

2.106/01/26-106/02/05/ F{RA LR

iz 2 B A4BENE BBEAERR



1058 FF EEERR( HAEHERE(C) )  H18=
RIRFLED  HREEIS - BRI - TESE - REE - FHE C UK

={E — _ = Y il = — — = ] il
£—B 1/9 1/10 1/11 1/12 1/13 $£_R 1/16 1/17 1/18 1/19 1/20
0800 0800 BURIERR
1 2 1 E T
0850 0850
0900 0900 SURIERR
2 2 2 E T
0950 0950
1000 s 1000 SRLETR Y
3 2 HER 3 E TS
1050 1050
1100 R4 1100 SRLETR Y
4 E HER 4 E TS
1150 1150
1240 5~1%5~17 1240
5 ES pizli/zhad 5 E
1330 1330
1340 5~1%5~17 1340
6 ES pizli/zhag 6 E
1430 1430
1440 5~1%5~17 1440
7 ES pizli/zhag 7 E
1530 1530
1540 5~1%5~17 1540
8 E pizli/zhag 8 E
1630 1630
=B — — = ] Bl =B — — = ] pil
E—8 1/23 1/24 1/25 EJUpG 2/6 2/7 2/8 2/9 2/10
0800 | =8 0800 (L akzi]
1 E REE 1 ES FifE
0850 0850
0900 | =% 0900 A&l
2 E 2EE 2 ES FifE
0950 0950
1000 | =80 1000 A&l
3 E REE 3 ES SUR
1050 1050
1100 | =80 1100 A&l
4 E REE 4 E SUR
1150 1150
1240 1240
5 2 5 E
1330 1330
1340 1340
6 E 6 E
1430 1430
1540 1540
7 2 7 E
1630 1630
1540 1540
8 E 8 E
1630 1630

it LENE-XRZIRHMER - REAZREFAIBANEZEIBERR
2.106/01/26-106/02/05BFBRA LR




% = = N> %g ==
10582 FF EEBRER( EREEEER ) H36E
v -] =11
ZIRLED ;- R - BRI
=g — — = m i =g — — = m 2l
F—B 1/9 1/10 1/11 1/12 1/13 F_B 1/16 1/17 1/18 1/19 1/20
0800 0800
ES [k R an z RREREO | BRARYN
0850 0850
0900 0900
ES BEE 330 ES RREREO | BRARYN
0950 0950
1000 1000
E [k R Ao z RRAREO | BRARYN
1050 1050
1100 1100
ES [k Rz yn ES RRAREO | BRARYN
1150 1150
1240 1240
z £ k|
1330 1330
1340 1340
z E k|
1430 1430
1440 1440
z E k|
1530 1530
1540 1540
z E k|
1630 1630
=g — — = m i =g — — = m 2l
BE=A 1/23 1/24 1/25 SEIE 2/6 2/7 2/8 2/9 2/10
0800 0800
ES R AR an ES R R
0850 0850
0900 0900
ES Rz an z R R
0950 0950
1000 1000
E) Rk an E) [k Ed |
1050 1050
1100 1100
E Rz gn z R R
1150 1150
1240 1240
E k| E
1330 1330
1340 1340
E k| EY
1430 1430
1540 1540
E | E
1630 1630
1540 1540
E k] E
1630 1630

i LERE—XBSRHIER -
2.106/01/26-106/02/05 B BR L 52

REREAEHAMVBABEBREER R




105EE[E RIEERE( BEER(—) ) - H54%
RGN : FIEEE

e — _ = Y h e — _ = Y il
E—8 1/9 1/10 1/11 1/12 1/13 £8 1/16 1/17 1/18 1/19 1/20
0800 |&:tilm(—)| Eatin(—)| Tatla—)| Zatilm—) | @R 0800 |=:tiltam(—)| Gatin(—)| SEHER(—)
ES) PR | g | 2iE | 2% | 2iE 1 ES) FIPE | g | 2B
0850 0850
0900 |mstm—) | eatimm—) | @t | @stn—) | gtEm—)| 0900 |=:tim—) | Eatm—)| FatginG—)
z PR | g | 2iE | % | 2iE 2 z ZIPER | 2R | 2%
0950 0950
1000 | &t Satn—)| &atilm—) | @@ )| @t 1000 |=ttmsae)| &atilm—) | tEm—)
ES) PR | g | 2iE | 2% | 2iE 3 ES) FIPE | g | 2iiE
1050 1050
1100 |&stim—)| 2| stln—) | ZatEa )| astdn—| 1100 |=stm—)| Eatm—) | Sstdme—)
z PR | g | 2iE | 2% | 2iE 4 ES) ZIPE | R | 2%
1150 1150
1240 1240
z 5 ES
1330 1330
1340 1340
ES) 6 ES)
1430 1430
1440 1440
z 7 ES
1530 1530
1540 1540
ES) 8 ES)
1630 1630
=E — _ = Y il EJT — _ = Y il
E=8 1/23 1/24 1/25 Ui 2/6 2/7 2/8 2/9 2/10
0800 |msttam—)| matimm—)| &atm—) 0800 |=:stin—)| estimn—)| Eatine—)
2 wilE | % | 21E 1 z wilg | ZiPE | 21E
0850 0850
0900 |=:ztiltm(—)| Eatin—)| SatlmE) 0900 |=:tilm(—) | Batn—)| SEHEm—)
z PR | 2l | 2% 2 ES ZIPE | 2E | 2%
0950 0950
1000 |=stin—)| Eatin—)| StEm—) 1000 |=stam—)| Eatiine)
2 wilE | % | 21 3 z IR | &
1050 1050
1100 |zt Eatidm—) | 2atm—) 1100 |Estam—)| eatimn-)
z PR | 2iE | 2% 4 ES) ZIPE | 2E
1150 1150
1240 1240
z 5 ES
1330 1330
1340 1340
2 6 z
1430 1430
1540 1540
z 7 ES
1630 1630
1540 1540
ES 8 z
1630 1630

it 1.BRBE-—XRZIR4ER REAZREFAMBRABEBBRHMER
2.106/01/26-106/02/05B F KA LR




105BEE BISERE( BEEM(—) ) 362
SR . BRUEEE TR

e — _ = Y h e — _ = Y il
E—8 1/9 1/10 1/11 1/12 1/13 £8 1/16 1/17 1/18 1/19 1/20
0800 |ex=m(—)|=xs®E ()| 2xuB()| 258 ()| 22580 0800 PEEB(—)| BEEB()
1 ES) BRUE | BRUE | BRUE | 2285 | =% 1 ES BB | 2858
0850 0850
0900 |zx=m)|=x=w)|2xzE)|2xmw—)| 258 0900 SEEB(—)| RETHE(H)
2 z BRUE | BRUE | BRUE | 28858 | &=#E 2 ES) BRUE | 888
0950 0950
1000 |2x=®()|2£e8()| 2253 (—)|2xs=w—)| 22850 1000 PEEB(—)| BrEE(—)
3 ES) BRUE | BRUE | BRUE | 2285 | =% 3 ES BRUE | 22858
1050 1050
1100 |2g=sE)|2xsE)| 2xan—)| 2 )| 2xa8 )| 1100 SEEB(—)| BETH(H)
4 z BRUE | BRUE | BRUE | 528858 | &=#E 4 ES) BRUE | 28858
1150 1150
1240 1240
5 ES 5 ES)
1330 1330
1340 1340
6 ES 6 EY
1430 1430
1440 1440
7 z 7 ES)
1530 1530
1540 1540
8 ES) 8 ESY
1630 1630
=E — _ = Y il EJT — _ = Y il
£=H 1/23 1/24 1/25 Ui 2/6 2/7 2/8 2/9 2/10
0800 EES - (8 0800 FREHB(—)
1 z =R 1 z ERIE
0850 0850
0900 FEEH() 0900 PymEmE—)
2 z =WE 2 ES) E2RYIIE
0950 0950
1000 FxmE(-) 1000 FEHE(—)
3 2 =R 3 z ERIE
1050 1050
1100 fEEH() 1100 FmEmE(—)
4 z =HRE 4 ES) E2RYIIE
1150 1150
1240 1240
5 ES 5 ES)
1330 1330
1340 1340
6 z 6 E
1430 1430
1540 1540
7 z 7 2
1630 1630
1540 1540
8 ES 8 E
1630 1630

it

1.BENBE—XERZXRFIER - RELZHEHAIBERNEBBAZEH R
2.106/01/26-106/02/05B F KA LR




1058 FE EREBRR( MT2(—) ) H36=E
SIRFLAN . B EEM BERUEZEAR

ET — - = m A ETS — - = m il
E—8 1/9 1/10 1/11 1/12 1/13 E£8 1/16 1/17 1/18 1/19 1/20
0800 0800
1| = 1 =
0850 0850
0900 0900
2| = 2| =
0950 0950
1000 1000
3 EY 3 ESY
1050 1050
1100 1100
41 = 41 =
1150 1150
1240 |#stE ()| #ate—)[#ta ()| #atB(—) | HarE(—) 1240 Gt FmErE-)
5 EQ ZHFE | &FE | FE | BRUE | BERUE 5 = =FE | BRUE
1330 1330
1340 |#steE—)| mete—) | smsta )| #ra )| ferE-) 1340 mata—)| mate-)
6 ES BFEE | 2FE | &FE | BERUE | BRUEB 6 z =FEE | BERUEB
1430 1430
1440 |#mstea—)|mere—) | ssta—) | smara—) | nate—)| 1440 mEte—)| mErE-)
7 EQ ZHFE | &FE | FE | BRUE | BRUE 7 = =FE | BRUE
1530 1530
1540 |mste—)| mate—)|msta—) | smeta—) | mite-) 1540 mata—)| mate-)
8 ES BFEE | 2FE | &FE | BERUE | BRUEB 8 ES) =FEE | BERUEB
1630 1630
=E — _ = LY h E — _ = LY il
£=8 1/23 1/24 1/25 E-Juipc 2/6 2/7 2/8 2/9 2/10
0800 0800
1 = 1 =
0850 0850
0900 0900
2| = 2| =
0950 0950
1000 1000
3| = 3 =
1050 1050
1100 1100
41 = 41 =
1150 1150
1240 HEtE(—) 1240 HETE(—)
5 z BERUIE 5 E ERUIE
1330 1330
1340 ErE(—) 1340 RETE()
6| = B RIIE 6| = B RIE
1430 1430
1540 HmEtE—) 1540 HEtE(—)
7 z BERUIE 7 E ERUIE
1630 1630
1540 FEtE(—) 1540 HEE(—)
8| = B RIIE 8| = B RIE
1630 1630
it LBRNE—XRITH4ER - REEZREEAIBRNBE S BE ZHER

2.106/01/26-106/02/05/ F{RA LR




10584 E EERR@REE) - %722

micy

2.106/01/26-106/02/05% F A LR

v ] = d = = [ —]
SR En: =88 - SREIX  EFR¥EZE : AS08
e — _ = M il e — _ =
5 —1B 1/9 1/10 1/11 1/12 1/13 5_i8 1/16 1/17 1/18
0800 0800 |9#E SEEEE: |
ES z | ()
0850 0850 | #EH
0900 0900 |#¥# B ERUIEES |
z z | ()
0950 0950 | R
1000 1000 | W4 EE SEEE: |
ES z | ()
1050 1050 | 5=k
1100 1100 @B PR |
ES z | ()
1150 1150 | smEn
1240 |W#RHZE|W&EZ|VRBE|WARBEE|VREE 1240 PR RIEEES
£ (=) =) (=) (=) (=) £ =) (=)
1330 | =#682 | Sigic | S8 [ REK | REK 1330 =itie | SiEie
1340 |¥RBEZE|VARBE| D& BE|RBE|VRBE 1340 AR BE|VRBE
£ (=) (=) (=) (=) (=) £ =) (=)
1430 | =#682 | Sigic | S8 [ REXRX | REK 1430 =itie | SiEiR
1440 |9 BEZE|VARBE| D& BE|RBE|VRBE 1440 R BE|VARBE
£ (=) =) (=) (=) (=) £ (=) (=)
1530 | =#6#2 | Sific | S8 [ REXRK | REK 1530 =itie | SiEiR
1540 |¥RBEZE|VARBE| D& BE|RBE|VRBE 1540 WA BE|VRBE
£ () =) (=) (=) (=) £ =) (=)
1630 | S#aic | S | ST | REK | RER 1630 Sitie | SiEie
e — — = i h EJES — — =
=i 1/23 1/24 1/25 FR FR ELpE 2/6 2/7 2/8
0800 |##H=E|#&BE 0800 |##H==E|¥A&BE & ¥4 B
E) (=) =) E (=) (=)
0850 | REX | 5L 0850 | Sigic | S8
0900 |##kHE=E| ¥4k BE 0900 |¥# B4R BE & ¥4k B A
) (=) (=) E (=) (=)
0950 | REXK | S 0950 | Si#g#c | S
1000 |##REZE|¥#HKEE 1000 ¥R HZE|¥#kBEE & ¥4 BE]
E) (=) =) E (=) =)
1050 | JREXK | Sif#R 1050 | &#tic | SiFiR
1100 | BZE|#HKREE 1100 | ¥R BEE|¥M#kEE & ¥4k B A
£ (=) (=) E (=) (=)
1150 | JREXK | SR 1150 | =i#fse | SR
1240 PRI A=ES] 1240 I I=ES]
£ =) £ (=)
1330 SR 1330 SREL
1340 EIE A= 1340 VB
= (-) ES (—)
1430 SR 1430 SREL
1540 EIE A= 1540 EIF A=
= (-) ES (—)
1630 SR 1630 SREL
1540 VB 1540 EE A=
= (—) ES (—)
1630 = 8852 1630 SRELR
it 1L BB —XEZLH4ER  RELAZHEZHALIBNESBEZHER



1058 [F EERF(MERHE(N)) - #3628
ERYET S8  RER  LIRHE : AS08

e — — = [ il ey — — = [ il
£—iB 19 | 110 | 111 | 1/12 | 1/13 $8 | 116 | 1/17 | 1/18 | 1/19 | 1/20
0800 |HmREE|HESR| HESRE|HEEE| HESR 0800 HiE g HE g
1] £ ) 73 ) 73 ) 1 £ ) )
0850 | Sitix | Siic | Bkl | Bk | Sitk 0850 REIR | RFEIK
0900 |HmEGH| HESHE | HESHE|HEgm| HEgR 0900 HiE g HEEE
21 = ) 7S ) 73 ) 20 = ) )
0950 | Sitic | SiRic | Bk | B | Sk 0950 REIR | REIR
1000 |HeASR | HESHE| HEgHE | HESHE | HAGR 1000 HE = HEER
3| = ) 73 ) 73 ) 3] £ ) )
1050 | St | Bkl | Sk | Sitic | REK 1050 REIR | RFEIK
1100 |HeESR | HESRE| HEgE| HEgHE| HEgR 1100 HiE g HEgE
41 = ) ) ) ) ) 40 = ) )
1150 | Sk | Bk | Bk | S8 | REK 1150 RER | REI
1240 1240
51 % 51 =
1330 1330
1340 1340
6 = 6| =
1430 1430
1440 1440
71 7| =
1530 1530
1540 1540
8| = 8| =
1630 1630
=B — — = E A =B — _ = q i
=8 | 123 | 1724 | 1725 | #R | £ EiE 2/6 2/7 2/8 2/9 | 2/10
0800 EEEE 0800 EEER
1| % ) 1| = ()
0850 REB 0850 REB
0900 HFEE 0900 HFEE
2| = ) 2| = )
0950 REK 0950 REB
1000 EEEE 1000 EEEE
3| & ) 3| ()
1050 REB 1050 REB
1100 HFEE 1100 HFEE
41 = ) 40 = 73
1150 REK 1150 RER
1240 1240
51 % 51 &
1330 1330
1340 1340
6| = 6| =
1430 1430
1540 1540
7| ® 7| =
1630 1630
1540 1540
8| = 8| =
1630 1630

it 1. BREB—REZZHMER - RERZEHNEFAIENBESBHZR
2.106/01/26-106/02/05% F iR A LR



1058 FE BERRWRHBHERRETIS) - H36=
REAp b AERE - EiiE  ERREE : D506

= — - = m A EE — - = m A
£—iB 19 | 1710 | 111 | 1/12 | 1/13 £78 | 1/16 | 1/17 | 1/18 | 1/19 | 1/20
0800 0800
1| = EE | FEFE | MFEFE | HRAERE 1 = | TRE | 8B | mFEH
0850 0850
0900 0900
2| = TE | #AFEAE | MRFEFE | MAEFE 2 = | TR | BB | MFEFE
0950 0950
1000 1000
3| & EE | FEFE | MFEFE | MRAERE 3 ZE | TR | TRB | MAEFE
1050 1050
1100 1100
41 = TE | AFEHE | MRFEFE | MAEFE 4 ZF | B | THUE | MAERE
1150 1150
1240 1240
50 = 51 =
1330 1330
1340 1340
6| = 6| =
1430 1430
1440 1440
71 = 71 =
1530 1530
1540 1540
8| = 8| =
1630 1630
=B — — = @] i E — - = @] i
g=8 123 | 124 | 125 | & | &R e 2/6 2/7 2/8 2/9 | 2/10
0800 0800
1| = MAEFE 1| = EE
0850 0850
0900 0900
2| = MAEFE 2| E EE
0950 0950
1000 1000
3] & MAEFE 3| & EE
1050 1050
1100 1100
41 = MAEFE 41 = EE
1150 1150
1240 1240
50 = 50 =
1330 1330
1340 1340
6| = 6| =
1430 1430
1540 1540
71 = 71 =
1630 1630
1540 1540
8| = 8| =
1630 1630

it 1 1. BRE—XERZXH4ER -  RERZEAEHAIENBESREERR
2.106/01/26-106/02/05 R FHRA LR



10585 [E RISEER( THE ). #362
SIRYET : RS

EY — - = [ A =B — - = Iy il
£—R 179 | 110 | yii | 12 | 113 278 [ Tie | 117 | /18 | 1/19 | 1/20
0800 0800
z 1| =
0850 0850
0900 0900
z 2| =
0950 0950
1000 1000
z 3| =
1050 1050
1100 1100
z 4| =
1150 1150
1240 THE (NP2 |82 |[nEe 1240 THE [nBE
E BEE (BEBE |MBE |BRBEZE 5 Y BEFEE |BRBE
1330 1330
1340 THE [1THE |(1THE |1TH2 1340 THHE  |[1THE
= BBE (EBE |EBE |EBs 6| = BHE |EBE
1430 1430
1440 THE |[0BE |nBE |nhe 1440 THE |[Ee
E BEFE (BEBE |MBE |BRBEZE 7 Y BEFEE |RBE
1530 1530
1540 THE [1THE |(THE |1TH2 1540 THE  |[1THE
= BBE (BBE |EBE |EBs 8| = BHE |EBE
1630 1630
=B — — = [ ol =B — — — 7 ol
g=8 [ 123 | 124 | 125 e 2/6 2/7 2/8 2/9 | 2/10
0800 0800
z 1| =
0850 0850
0900 0900
= 2| =
0950 0950
1000 1000
z 3| =
1050 1050
1100 1100
z 41 =
1150 1150
1240 THE [nEE 1240 THE
EY BEBEE (BEEBEE 5 E R ps 2
1330 1330
1340 1THHE T2 1340 1TiHE
ES REBEE (FEEB2 6 E P52
1430 1430
1540 THEE |[nBE 1540 THE
EY BEBEE (BEEBEE 7 £ R ps 2
1630 1630
1540 ITHHE 1T 1540 1TiHE
ES BREEE |(FEEBF2 8 ES MR p5 2
1630 1630

it LBRBE—RXRILHMER  RESZEEHRAIBAEHEBAER
2.106/01/26-106/02/05R F KA LR




105B4E[E RISERE( ARRBRMER—) ). #3628
SR : BRI

=E — - = I A =(E — = = 7 kA
£8 [19 | 110 | 111 | 112 | 1/13 £-8 [T1/16 | 117 | 1718 | 1/19 | 1/20
0800 IR R0 | IR 202 28 | K R 28 0800 IR 8| IR R 202 78
£ #3(—) | () | () 1| % BE3(—) | iR (—)
0850 FRBEE | #RBRME |SRIRUR 0850 BRI | BREELE
0900 PR 28| PR A 28| R e 0900 PR | R
= () | 3R (—) | #ER(—) 2| = () | #EA()
0950 BRIBIE | RIBRIE |ARIRIR 0950 BIRIE | AR
1000 TRIEIRE AR | IRt 0 A 2 1000 R KR 0278
£ #3(—) | () | () 3| % BE3(—) | iR (—)
1050 FrBEe | #RERME |SRIRUR 1050 BRI | BREELE
1100 PR 28| PR A 8| R e 1100 PR | R
ES 1Bam(—) | 18Eam (—) | BEam(—) 41 = 1w (—) | #ham(—)
1150 BEIE | GIEE (R 1150 BB | B
1240 1240
ES 5| %
1330 1330
1340 1340
£ 6| %
1430 1430
1440 1440
= 7| =
1530 1530
1540 1540
£ 8| %
1630 1630
=E — - = 7 A = — — = I k2
=@ | 123 | 124 | 1/25 g | 2/6 | 27 | 2/8 | 2/9 | 2/10
0800 RE%E 8 | KR 0278 0800 RE%E8 KA 028
ES tBEam(—) | Bham(—) 11 = tBam(—) | #ham(—)
0850 BRIEIE | BRBEYE 0850 BRIEIE | #RBRYE
0900 R | R 0900 PR | R e
ES BEam(—) | B (—) 21 = 1BEam(—) | fBtam(—)
0950 BrEeE | BRERIE 0950 BRERIE | BREEYE
1000 Nk NS 1000 NEE A RN
ES tBam(—) | Btam(—) 31 = tBam(—) | #ham(—)
1050 BRIEIE | BRBRYE 1050 BRIEIE | #REBRYE
1100 R | R 1100 PR 8| AR
ES Bham(—) | B (—) 41 = 1BEam(—) | fBtam(—)
1150 FriEle | BREEME 1150 grEle | #REEe
1240 1240
= 5| =
1330 1330
1340 1340
ES 6| =
1430 1430
1540 1540
= 7| %
1630 1630
1540 1540
= 8| =
1630 1630

it LBRBE—RXRILHMER  RESZEEHRAIBAEHEBAER
2.106/01/26-106/02/05R F KA LR




105SEE FEERR(HXBWR(D)) - #36%
SRUED : BEL

ET — - = m A ETS — _ = I il
E—8 1/9 1/10 1/11 1/12 1/13 E£8 1/16 1/17 1/18 1/19 1/20
0800 0800
= 1 =
0850 0850
0900 0900
= 2| =
0950 0950
1000 1000
= 3 =
1050 1050
1100 1100
= 41 =
1150 1150
1240 1240
ES BmEE | BEE 5 ES BRE | L
1330 1330
1340 1340
ES) BmEE | BiEE 6 ES) BRE | BEE
1430 1430
1440 1440
z BmEE | BEE 7 = BRE | L
1530 1530
1540 1540
ES) BmEE | BiEE 8 E BRE | sEE
1630 1630
S — _ = LY h E — _ = LY h
E£=8 1/23 1/24 1/25 F8E 2/6 2/7 2/8 2/9 2/10
0800 0800
= 1 =
0850 0850
0900 0900
= 2| =
0950 0950
1000 1000
= 3 =
1050 1050
1100 1100
= 41 =
1150 1150
1240 1240
EY g 5 E B Mg | HRE | sirt
1330 1330
1340 1340
z BRigZE 6 E BriEZE BRLE | sRE | X
1430 1430
1540 1540
z i 7 E B Mg | BRE | sirt
1630 1630
1540 1540
z BRigZE 8 ES) BrigZE BRLE | sRE | L
1630 1630

it 1.BRBE-—XRZIR4ER REAZREFAMBRABEBBRHMER
2.106/01/26-106/02/05B F KA LR




2ot [ e ] e -\- d—
1058 FEERF(ASAXL(—) ) - #362
RN : HRE
e — — = i h =g — — = q fil
E—8 1/9 1/10 1/11 1/12 1/13 8 1/16 1/17 1/18 1/19 1/20
0800 0800
1| & | e | R | 3R 1 = | e | HRE | AR
0850 0850
0900 0900
2 = | R | HRE | B 2 = | HME | HRE | 3R
0950 0950
1000 1000
3| E | R | R | B 31 Z | AR | R | RS
1050 1050
1100 1100
41 Z | B | HRE | RS 41 | B | R | RS
1150 1150
1240 1240
5 E 5 E
1330 1330
1340 1340
6| = 6| =
1430 1430
1440 1440
71 = 7] =
1530 1530
1540 1540
8| = 8| =
1630 1630
=g — — = I il E3E — — = 7y il
F=8 1/23 1/24 1/25 FHE 2/6 2/7 2/8 2/9 2/10
0800 0800
1 = | 3Re | RS 1 = | s
0850 0850
0900 0900
2| = | KB | s 2 = | HB
0950 0950
1000 1000
3 E | B | BB 3 = | MR
1050 1050
1100 1100
41 F | HAE | KB 41 &= | B
1150 1150
1240 1240
5 E 5 E
1330 1330
1340 1340
6| = 6| =
1430 1430
1540 1540
71 = 7 E)
1630 1630
1540 1540
8| = 8 £
1630 1630
it - LENE-—REZSZHMER - RELEZHEHAIBANBEZBEEHEHR

2.106/01/26-106/02/05R F kA LR




1058 FE FEERR(HZBREENDINEK) - H36=E
Ranadbl @ HiE - BRIREE

e — — = 0 h e — — = q bl
E—8 1/9 1/10 1/11 1/12 1/13 E_8 1/16 1/17 1/18 1/19 1/20
0800 0800

z 1] =

0850 0850

0900 0900

z 21 =

0950 0950

1000 1000

z 3| %

1050 1050

1100 1100

z 41 =

1150 1150

1240 1240

E) AR | R | B 51 % HOREE | HREE | R
1330 1330

1340 1340

z HOREE | AR | R 6| = HUREE | R | RS
1430 1430

1440 1440

E AR | R | 71 = AR | HREE | R
1530 1530

1540 1540

z RS | AR | RS 8| = HUREE | R | B
1630 1630

B3 — — = g h =g — — = q h
F=8 1/23 1/24 1/25 FHE 2/6 2/7 2/8 2/9 2/10
0800 0800

z 1] =

0850 0850

0900 0900

ES 21 =

0950 0950

1000 1000

z 3| %

1050 1050

1100 1100

ES 4 =

1150 1150

1240 1240

E) HRE | R 5] % BRIREE

1330 1330

1340 1340

z AUREE | B 6| = BRIREE

1430 1430

1540 1540

E) HRE | R 71 = BRIREE

1630 1630

1540 1540

z AUREE | IR 8| = BRIREE

1630 1630

it 1.BRBE-—XRZIR4ER REAZREFAMBRABEBBRHMER
2.106/01/26-106/02/05B F KA LR




1058 FE FRERR( HAEBEWRINEE ) - H36=
IRIREED © =R - BBRMR - FEE - R& 7f*

=g — _ = 0 h e — — = it bl
£—8 1/9 1/10 1/11 1/12 1/13 E_8 1/16 1/17 1/18 1/19 1/20
0800 0800

z HER | BXRm 1 z 818 | BRRMR
0850 0850

0900 0900

z #ER | BLRR 2 E F)EIE | BPRMR
0950 0950

1000 1000

z HER | BXRm 3 z 818 | BRRMR
1050 1050

1100 1100

z =R | BERR 4 E &I | BPRMR
1150 1150

1240 1240

z 5 E)

1330 1330

1340 1340

z 6 z

1430 1430

1440 1440

z 7 z

1530 1530

1540 1540

z 8 z

1630 1630

=g — — = g h =g — — = q h
F=8 1/23 1/24 1/25 FHE 2/6 2/7 2/8 2/9 2/10
0800 0800

z BRR AR 1 ES HER | REE | EER | EER
0850 0850

0900 0900

E EBR AR 2| = HER | REE | X8 | XA
0950 0950

1000 1000

z BRIk 3 ES HER | R | A28 | B8
1050 1050

1100 1100

E EBR AR 41 = HER | REE | 2R | &
1150 1150

1240 1240

ES 5 z

1330 1330

1340 1340

z 6 ES

1430 1430

1540 1540

z 7 z

1630 1630

1540 1540

z 8 ES

1630 1630

it 1.BRBE-—XRZIR4ER REAZREFAMBRABEBBRHMER
2.106/01/26-106/02/05B F KA LR




